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#include <iostream>
#include <vector>
using namespace std;

int main()

{

int num, radix, reverse;

vector<int> result; //11XZEYes, 0{tZ%ENo
cin >> num;

while (num >=0)

{

reverse = 0; //BTF &R EHIE
if (num <2) //1F00
{
result.push_back(0);
cin >> num;
continue; //BERHNT—XRER
}
int flag = 1;
cin >> radix;
for (inti=2;i < num;i++) //AIRREESR R
{
if (num%i == 0)
{
flag = 0;
break;
}
}

vector<int> radixNum:;

while (num / radix > 0)

{
radixNum.push_back(num%radix);
num /= radix;

}

radixNum.push_back(num);

intexp = 1;
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for (int i = radixNum.size() - 1;i >= 0; i--)
{

reverse += radixNumli] * exp;

exp *= radix;

}
if (reverse < 2) //1%10
{
result.push_back(0);
cin >> num;

continue; //EEHNT—IXER

}
for (inti = 2;i < reverse; i++) //FIRFEIEEER B NEEL
{
if (reverse % i == 0)
{
flag = 0;
break;
}
}

result.push_back(flag);
cin >> num;

}

for (inti = 0; i < result.size(); i++)

if (result[i] == 1)
cout << "Yes" << endl;
else
cout << "No" << endl;
}

return O;

}
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